AP Calculus
Unit 1 - Limits & Continuity

Day 2:
Analytical

Approach to
Finding Limits
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Consider the function, J{x}= -%]- 2+ 4| —4_ for a moment. The graph of Ax) is pictured below. From
the graph, deterzuine the following limits.
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Find each of the following limits analytically. D REC/T Su{) STiT ‘\)\T ﬁ?&“
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Analyiically Finding Limits of Functions at Undefined Values

What happens if we try to evaluate the linnts below by the direct substitution method that was used in the
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The task now 15 to determine how to find these linuts analvtically. How was 1t that we found the

discontinuities of a rational function in pre-caleulus? |
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Based on our knawladge from pre-calculus, we koow that if o vational function has dlnon-removable
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Nx+1-2
x —
to evaluate a limit analytically. Find the following hmit.

The graph of a function g{X) =

is pictured to the right. Often, ratiopalization can be used
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Consider the function below to find each limit. If a limit does not exist, state why
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Find each of the following limits analytically. Show your algebraic analysis
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Properties of Limits
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Find each of the following Hmits applying the properties of limits. If a limit does not exist,
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